Problems for You to Do: (Sec. 2.2 to 2.3)
QY , .5

1. a) Construct a frequency table for the
“Global Sales” data:

Global Sales Tally | Frequency
($ Billions US)
3.0-39
4.0-49
50-59
6.0- 6.9
7.0-179
80- 89
9.0- 99
10.0-10.9

b) What are the boundaries of the first class?
¢) What is the class width?
d) What is the class mark of the last class?

Of the top 20 companies in 1998 giobal
.pharmaceutical sales, ffalf have since
merged or announced mians to merge.

Glob¥ saies

Rank Company {Sbilllons U.S.) Merger status

1. Novartls - $10.6 —_

G

5. - Bristol-Myers Squibb
Johr_\gag_ & Johnson
ATERCR R aTE

20. Boshringer ingelhaim 3.6 —_

Source: The Vancouver Sun, p. D4; Jan. 18, 2000

e) Construct a relative frequency histogram for the “Global Sales”. Clearly label
and scale both axes, and identify the “tick marks” ___| on each axis.
f) Construct a suitable stem and leaf plot for the “Global Sales” data.

(Identify the “stem” and the “leaf”.)

2. Which histogram shape to the right

a) is called skewed to the right?

b) do you think best suits the variable
“the speeds of cars along a straight
section of the Upper Levels Highway
where the speed limit is 80 km/h™?

Briefly explain why you chose the one
you did, and mark 80 km/h on the graph.
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had

How many degrees is the central angle for the “Not at all” response?

Not at all 2%

Not very 11%

Somewhat
43%
How active is your life style?

| Weights (kg.)
4. If you are constructing a frequency table for the weight

of newborns and you decide to use a class width of 0.4 kg 6 -——

and a lower class limit of 1.6 kg for the first class, -

a) fill in the blanks for the other class limits in the -
“table to the right
b) what is the class mark of the first class?

5. The 100 m sprint times (sec) and heart rates (beats per minute) for a sample of
students are given to the right.

Sprint Time Heart Rate
L. . 13.6. 85
a) Is heart rate a discrete or continuous 15.2 pos
variable? 12.3 80
_ 13.2 102
N 13.7 86
b) Construct a frequency table for the sprint times. 133 P
14.1 92
Sprint Times Tally Frequency _ 11.8 87
11.5-11.9 125 72
12.0-124 12.7 78
12.5-12.9 13.2 83
13.0-134 115 80
13.5-13.9 14.6 90
14.0-144 12.7 103
14.5-14.9 13.2 77
13.4 9
. . 12.9 87
c) What is the relative frequency for the 131 -
12.5 - 12.9 interval? 12.0 76
12.6 79
. . 14.0 86
d) Construct a frequency histogram for the sprint 13.0 >
times. Be sure to 12.3 83
e label each axis ‘ 12.9 80

e identify the numbers that corresponds to each
tick mark on each axis
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http://infoseek.go.com/Topic/S ports/Hocke.,.ucks?id=73 10&sk=sportsalias7310r_rl&tm=R

6 GO Network Sports : Vancouver Canucks - Roster

a) Construct a frequency table for the
weights of the Canucks

Weights (Ibs.) Tally Frequency

175 - 184

185 - 194

195 - 204

205-214

215-224

225234

235-244

b) What are the class boundaries of the first
class?

¢) Whatis the class mark of the last class?

d)

Construct a histogram for the
players’ weights. Label each
axis and identify the numbers
for each tick mark on each axis.

e) Construct a stem and leaf plot
for the weights.

7. Preliminary results from the Math 101-1 statistics survey yielded the following
responses to the question “How many cups of coffee did you drink yesterday?”
0,0,2,0,8,1,0,1,1,3,0,2,4,0,1,0,5,0,0,2

a) Construct a frequency table for amount of coffee consumed:

b) Construct a histogram for the % relative frequencies. Be sure to label the axes

and identify each “tick mark”

8. a) Ifa pie chart were used to illustrate the responses to
Question 2, how many degrees should you make
the central angle for the “Much more optimistic”
response? (round your answer to the nearest degree)

b) If a Pareto chart were used to illustrate the
responses to Question 59, how high would the
first bar on the left be?

(The numbers in the right column represent % of respondents.)

2.4

MACLEAN’S /CBC POLL TEXT

2,

59.

Are you more or less optimistic about the future than
you were a decade ago

Much more optimistic 9

A little more optimistic 23
Feelings not changed much 27
A little more pessimistic 28
Much more pessimistic 12

Suppose you have a 17-year old teenage daughter
who became pregnant, and she did not wish to
continue the relationship with the maie she became
pregnant by, which of the following would you be
most likely to advise that she do?

Have an abortion 18
Have the child, but give it up for adoption ......cc..c.cceeuveae 20
Keep the child and be a single parent.........ooorvecceunees 44

Allow her to make her own decision (Volunteered).......... 9
Don't know 7
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9. a) Identify the variable in each of the following
examples as “discrete” or “continuous’:

e 6'3' 230 Sudbury, ON: Feb, 2,1975
C 61 1904Per|ﬂ|:tcm BC. Sept. 15, 1876

. . «-Nav. 28,4973
(i) the player’s weight IR T
8 ‘Brashear; Donald: - - 250 -~ Jen7,1872
. 50 Brown,Mbe- 1w 647 28 SurrzyB(‘ Apr:27, 1979
(i1)  the year that the player . 25" Cassols, Al - ; G817 485 BromalogyON . July 23,1969
41 Chubarov, Anem ¢ &1 190 Nuvugcrud. Huma Dec, 12,1979
was b()ITl 2 ”4 “BookerMatt: . . .. Ci5HLN ‘295-’Eeuevm.e, ON: SPpt'T’JSTB-
. { 541 Druken, Hamld " Jan.26, 1979
b) Identify the level of measurement of: £ 43: Ferone, Pau Apr.2, 1978
" 15" Gendrom, Martn . Feb.1b, 1974
_ .| Sem 20,0974,
(1) the player’s sweater e R

(i1)  the year that the player
was born

(111)  the height of the player

. 3 RO " 210; Tl N - » Nuv.lQ‘.I.QT.L'

¢) Construct a frequency table for the weights It Messie, Mark € 61" 210 Edhonicn.dB Jan: 18;1081

| B9 Moginy Alex | RW 5117 205 Whabarovsk,Russia Feh 18; 1969

(WT column) of the players. 17 MuckstDE  RW 007 200 Swiej,BC Juy 15, 1974

19-Nasund-Mars LW 511" 195. OnshaldsvicSWE  July 30, 197*

- - 51 Pearson, Rob - RW- €37 200" Oshawa; ON- Mar. 82497

Weights Tally Frequency : EREE U s

165 - 174 39 Ready, Ryan- W G 185 N Nov. 7; 1978

. 175 - 184 72 Rowe, Randy W 5117 195. . Jun, 15, 1980
P - 37 Fouts, Jako W 62 1u5 Helg Aug. 23, 1975:

185 -194 _ | 47 Sovn.Rogo  CAW GU°150° Montredi, May1, 2970
195 ~204 20 Scawhard,Dave  C. 627 217-HimonAS . - Feb 20,1976

205 - 214 " 29 Schasfer,Pater. LW 511" July 32,1977
215-224 RW- 65 Fe. 6,197,
225234 Octg, 1979

'.. Fab. 4,973 |

d) What is the class mark of

the first class? Mer 6;1977 |

Aur:ﬁ 1974

e) Construct a histogram for the weights;
e label each axis

o identify the number that corresponds to
each tick mark on each axis.

1.
10. Which histogram shape to the right
>
a) 1is called skewed to the left?
b) do you think best suits the variable “ages of 2.
B.C. women who got married in 1999”7 /
Briefly explain why you chose the one you did. >
3.
>
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11. If the weights of newborns are grouped into
the weight intervals shown to the right,

a)
b)

what 1s the class width?
what are the boundaries of the
first class?

12. Construct a stem and leaf plot for the
earthquake magnitudes.

13.

b)
c)
d)
e)

Stem Leaves

You do not have to put the
leaves in order.

The data to the right represents the first 20
responses to the question “How many hours
per week do you plan to study for this course
outside of class?”

Construct a frequency table for the “study hours”.

Study Hours | Tally
0-2
25-45
5-7
7.5-95
10-12
12.5- 145
15-17

Frequency

What are the boundaries of the last class?
What is the class mark of the second class?
What is the class width?

Construct a histogram for the study hours.

e label both axes

e identify______ tick marks on each axis.

Construct a stem and leaf plot for the study hours.

2.6

Weights (kg)
23-27
2.8-32
3.3-3.7
3.8-42
4.3-4.7

Earthquake Magnitudes
(Richter Scale)

1.6

0.7

32

1.8

2.3

3.6

0.9

14

1.7

2.8

3.5

4.1

5.6

2.7

2.5

Math 101-1
Statistics Survey

8.0
4.0
8.0
5.0
6.0
4.5
8.0
7.0
9.0
35
7.0
2.0
8.0
12.0
5.0
45
15.0
8.0
4.0
6.0




14. Set up a frequency table with 5 classes for the following IQ data scores:

105 122 94 89 101 100 85
9% 117 96 120 99 105 96

a) Range= b) Class Width =

9 102 100

108 92 89

¢) Complete the table using lowest score as the starting point.

Class Tally Frequency

Relative Cumulative
Frequency (%) Frequency

d) Draw a relative frequency histogram using class boundaries (be sure to label

fully).

e) Determine the class mark for the 4" class.

15.a) What is the level of measurement for
the responses to Question 40?

b) If a Pareto chart were used for the responses
to Question 41, how high (in %) should you
plot the first bar on the left?

¢) If a Pie chart were used for the responses to
Question 40, how many degrees should you make
the central angle for the “Very Upset™ response?
(Round to the nearest degree.)

2.7

40. How do you feel about the amount of tax you pay %
3

Very upset

Somewhat upset 48
Not very upset . 15
Not upset at all 8

41. (Asked of those who answered “very upset” or
“somewhat upset” to question 40) Which tax do you-
get the most upset about?
Personal income tax..............,.cormrevurens
GST and sales taxes generally .
Property and municipal taxes..........
Don't know/refused .........c.coc v

MACLEAN'S/DECEMBER 28, 1998/JANUARY 4, 1999




16. The data to the right represent the first 20
student responses to the question “How many

hours of sleep did you get last night?”.

a) Construct a frequency table for the sleep hours.

Sleep Hours Tally

Frequency

3.0- 40
4.5- 5.5
60— 7.0
75— 85
9.0-10.0
10.5-11.5

b)

c)

d)

What are the boundaries of the
first class?

What is the class mark of the
last class?

What is the class width?

Construct a histogram for the

sleep hours:

¢ label each axis

o identify the numbers for each
tick mark on each axis

Construct a stem and leaf plot
for the sleep hours.

Stem | Leaves

SWvwaahbhw

You do not have to put
the leaves in order.

Math 101
Survey
Sleep Hrs.
6.5
5.5
10.5
7.0
9.0
4.0
7.5
9.0
7.0
3.5
6.5
9.0
9.0
7.0
7.0
8.0
6.5
9.5
8.0
4.0
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